METAL DECK 2VLI 20 TYP.

1-0"
EXIST. COL. VOJ.

W12X19 |
CONC. DECK

W14X22 W./ |
SHEAR STUDS !

( SEE PLAN )

$EL. 13'-6 1/2° [
T.0. STL.

8X5 1/2°X3/8 L
ANGLE CONT. ]

3X9X3/8L PLATE
1 SIDE WELD CONT.
TO EXIST. COL.

3/4° BOLTS
AS SHOWN

W12X19

1 DETAIL

3/4° = 1 - 0" TYPICAL @

{
15 METAL HATCH CHANNM

AT 24° O0.C. BY METAL TRUSSES

2'-0°

EL. 33'-8"

T.0. STL.

60" N.T.S.

: —— W12X19

EL. 1§'-0° !

1/2° TOP PLATE

W24X94 STL. COL. !

4X4X1/4* T.8. COL.—————P
WELDED CONT. TO TOP
OF STEEL BEAM

wWi2X19

W12X19

4'-0" N.T.S.

12CSJ. AT 12" O.C.
BY METAL

T.O. s}n..

v
6X9X3/8 L PLATE

$ EL. 18'-0°
T.O. STL.

6X9X1/2 L PLATE

3/8" STL. PLATE

| |

LA

2 ;

EL. 24'-0°

WIND CLIPS BY METAL
TRUSSES CONTRACTOR

W12X19

W24X94

CRANE
BY GENERAL CONTRACTOR—’—7
( DASHED )

W16X50 >

1
|

W24X94 COLUMN ‘
— 5

|

V4 =

A

W12X19

EL. 15-0°
T.0.8.

R8'"-4°
R6'-10°

EXIST. BLDG.
COL. LINE———

2 1/2°X3°X1/4
' L ANGLE CONT.

! SEE ARCH.
METAL DECK

| | l\, jl’

EXIST. EAVE HGHT.

3/4" BOLTS
AS SHOWN

1/2" STL. SHELVING
.——WELD CONT. TO. COL.

8° STL. PURLINS
AT 48" OC.

|
C 20.7 W./ 4-3/4°

7
BOLTS TO EXIST. COL.

EXIST. BUILDING COLUMN

14 GA. SHEET METAL
C12 CSJ 16GA AT 12° O.C.

2 1/2° X2 1/2°X1/4°X CONT.
18"X3/8" CURVE STEEL PLATE

10'-0"

RY'-2°

! 3/4" BOLTS
AS SHOWN

6X6X1/4 T.S. COL.

EL. 24'-0° L
EXIST. EAVE HGHT.

‘$ EL. 22'-4°
T.O.STL.

R

©ee

—_————— e

! 15°

— - N -_G. -_:.___

]

21_6'

- jm <|—EXIST. PURLINS

EXIST. BUILDING MAIN FRAME
3/8 STL. PLATE SEAT

14 GA. SHEET METAL_/

24”9 CONC. COL.
SEE NOTES AT DETAIL 1485

VA

AT 48° O. C.

41_0'

14 K 1 BAR JOISTS

¢ NEW TS 6X6X1/4 COL.
SEE PLAN FOR LOCATIONS

CONC. SLAB

5'-0" );( 1-0*

NEW PURL!NSVA'E)TP:ICHED TO EXISTING PURLINS

AT 48° O. C.

/
1 9 $ EL. 18'-0° : /

AFF. !

W4X13

EXIST, COL. AND BEAM
4X4X1/4° T.S. BRACES

-2 1/2X2 1/2X1/4 CONT,

‘W./ STUDS 4° LONG AT 24° O.C.
‘RECESSED IN SLAB

LOCATION SEE 82

2'-6°

‘ 1/2° STL. TOP_PLATE
| WELD CONT. TO. COL:

X

2 1/2°X3*X1/4
L ANGLE CONT.

ROOF MATERIAL
-—--27INS. EP.D.M. ROOF
SEE ARCH.

METAL DECK r

8" STL. PURLINS
AT 48" O.C.

C 207 |

BOLT

EXIST. COL. |

Wi4x22 |

2 1/2°X3"X1/4 |

L ANGLE CONT. |
|
|

6° METAL STUDS
WALL SEE ARCH.
(DASHED)

6" CSJ AT 24" O.C.

TRUSSES CONTRACTOR

W14X22

1/2° STL. TOP PLATE
6X6X1/4 T.S. COL.

4

EL. 24'-0" _
EXIST. EAVE HGHTT

t
I
z
I
EL. 22'-4°
T.O.STL.

S TO

(R L S

——2 1/2°X3"X1/4

L ANGLE CONT.

—ROOF MATERIAL
2! INS._ E.P.D.M. ROOF

SEE ARCH.

—METAL DECK

—

8" STL. PURLINS
AT 48" O.C.

1.5 METAL HATCH CHANNEL
AT 24" O.C. BY METAL TRUSSES

12CSJ. 12GA. '
AT 24° O.C.

BY PRE-ENGINEER
METAL TRUSES [

EL. 27'-03/4"

T.0. STL.

W12X19 =
W14x22 ———

1/2° TOP PLATE
WELDED CONT. TO TOP
OF STEEL BEAM

6X6X1/4° T.8. co/

3/4° BOLTS
AS SHOWN

1/2° STL. SHELVING
WELD CONT. TO. COL.

PRE-ENGINEER METAL TRUSSES
AT 48° O.C.

EL. 24'-0° ]
EXIST. EAVE HGHT.

METAL DECK

2 1/2°X3"X1/4

L ANGLE CONT.

r
l
|
l
I
[
|
I
l
1
|
I
|
|
|
|
l

10

1-6°

14 GA. SHEET METAL

1-0°

2 1/2° X2 1/2°X1/4°X CONT.

e

13

‘$ EL. 35'-0°
/To‘/srf.

BY METAL TRUSSES

C12 CSJ 16GA AT 12° O.C.

18"X3/8° CURVE STEEL PLATE

| 8® STL. PURLINS
/H‘fﬁ*‘ AT 48° O.C.
Ll
W14X22 EL. 21-4° W14X22
T.O.STL. Pl
2 1/2°X3°X1/4 o Il 2 1/2°X3°X1/4
L ANGLE CONT. ® : 1 i } L ANGLE CONT.
— 6X6X1/4 T. STL. COL. i il | 6X6X1/4 T. STL. COL.
! ! |
—— 6" METAL STUDS L] 6 METAL STUDS
 WALL SEE ARCH. | R WALL SEE ARCH.
(DASHED) 1 1 | | «———(DASHED)
EL. 24'-0°

EXIST. EAVE HGHT.

2 1/2'X8"X1/4
L ANGLE CONT.

ROOF MATERIAL

2° INS. E.P.D.M. ROOF

SEE ARCH. N\ C=71T
(S

.
METAL DECK——— A /[\ /=7 : : {
———————————— Ll
8" STL. PURLINS ———> \ Ol
AT 48% O.C. 1 4 EL 22r-4°
DISTL.
Wi4X22 1

WALL SEE ARCH.
(DASHED)

2 1/2°X3°X1/4 N
L ANGLE CONT. |

14

1
|
6° METAL STUDS |
i

1.5 METAL HATCH CHANNELS

AT 24° O.C. BY METAL TRUSSES

\

PRE-ENGINEER METAL TRUSSES
AT 48° O.C.

WIND CLIPS BY METAL
TRUSSES CONTRACTOR

Wi2X19

| FULL MOMENT SHOP
WELL SPLICES |

17— W24X94

—— 4-3/4 BOLTS, 2 EACH SIDE

CONTRACTOR = aa-or
EL 33 T.0. STL.
0. STL.
®
®
- Wi12X19——
| ®
\ T
x \A EL. 32'-0" ,
e o)
1/2° TOP PLATE To. 81 —|
| «f— 4XaxX1/4* T.S. COL.
I
|
{
6'-0°
/N

16

3”¢ STEEL PIPE BRACE AT
W24X94 COLUMN

W16X50
g——————— CRANE
! BY GENERAL CONTRACTOR
: ( DASHED )
frgiongiuagien H,
/7

W24X94 COLUMN

EL. 35'-0"
T.O. STL.

EL. 34'-0"
T.O. STL.

$ EL. 32'-0°
T.0. STL.

1.5 METAL HATCH CHANNELS

AT 24° O.C. BY METAL TRUSSES

AT 48 O

WIND CLIPS BY METAL
TRUSSES CONTRACTOR

Wi12X19

PRE-ENGII\&EER METAL TRUSSES

4-3/4 BOLTS,
2 EACH SIDE

FULL MOMENT SHOP,
WELL SPLICES '

207X10°X3/8" PLATE
BOTH SIDES

14 - 3/49 BOLTS
A325N BOLTS AS
SHOWN

@@éé@@@

CRCR OGN RONC)

3”9 STEEL PIPE BRACE AT

W24X94 COLUMN

W16X50

CRANE

BY GENERAL
CONTRACTOR
( DASHED )

: W24X94 COLUMN

$ EL. 27'-03/4°
T.O. STL.

4°

8'

WIND CLIPS BY METAL

TRUSSES CONTRACTOR

W12X19

e

3'-0*

' 1/2° STL. PLATE SEAT
WELD CONT. TO. COL.

5'-11 1/4°

FIELD SPLICE

PRE-ENGINEER METAL TRUSSES
AT 48" O.C.

$ EL. 27'-0°
T.0.COL.

1
EXIST. BUILDG.

12
1

1-8°

TO
EL. 24'-0°

21 4%

e

2685

3/4" BOLTS
AS SHO"@?N

3X9X3/8 L PLATE
1 SIDE WELD CONT:
COL.

3/8" STEEL

T PLATE SEAT
EXIST. EAVE HGHT. WELDED TO COL.

AND C12.

4X4X1/4 T.S.
~WELD TO EXIST. COL
ﬁ SEE DETALL AT

3'-4°

6X6X1/4 T.S. COL.—

4X4X1/4 T.8.
—WELD TO EXIST. COL|

SEE DETAIL AT

EL. 18"-4° ﬁ | 2688

T.0.STL v

211

15

1/2° STL. CAP PLATE
WELD CONT. TO. COL.

6X6X1/4 T.S. COL.

9'-.5,
3'~o.
3'~o,
C 12X20.7 WELDED
FRAME
4 \::\\\\:\\
7 T~
2
4
3/4”6 ROD

3X3X3/8 STL. L ANGLE
BRACE REQUIRED

WELDED CONT. ONE END TO

C 20.7, ONE END TO 6X6X1/4 T.S.COL.

LIGO-D000293-00-L

70802

INSTITUTE OF ARCHITECTS

BATON ROUGE, LA.

ARCHITECTS /PLANNERS

MEMBER AMERICAN

703 LAUREL ST.

JOHN DESMOND & ASSOCIATES

LIGO-D000293-00-L

LOUISIANA

O
O
—

2 et
O
[T
O]
z
;)
=l
=
om
© i
Z b4
< o)
= o
(7))

g
= =
Z -

DETAILS

DATE 9-11-2000

S6




	133.pdf

